
Epreuve 2 :Tout Choco 

 

Camille is preparing a snack and plays a game with the squares of chocolate. She puts the 

squares of white chocolate side by side to get a rectangle. There is no hole in the rectangle. 

Then she places the squares of black chocolate round the rectangle (again there is no hole or 

space). She uses the same number of squares of white chocolate as black chocolate. The 

rectangle in white chocolate is more that 5 squares long. 

 

How many squares of chocolate of each colour did she use ? 

 


